Solution TD 01

Exercice 1

var entrep:Entreprise

- Diagramme 1

nom:string="PERTNE"

travailler pour :
travailler pour
travailler pour
pl:Personne :Personne p2:Personne
- Diagramme 2
Voiture . Moteur
- Roue - Roue - Roue - Roue

- Diagramme 3

Etienne : Personne
Patron

Patron

Denis : Personng

Jean-Luc - Personne
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+ Unité Pédagogigque
& - Code_lnité

= - Mom

& - Description

+ Ftudiant

- |dentifiant
- Mom_Prénam
- Date_Maiss

- MB_Credit
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= - Année

+ Module
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Exercice 6

Epreuve

- Ville : €dC
- Code : CdC
- Cout-inscription : Réel

Inscription
- No-dossard : Entier

- {include} ,

1
Classement

- Rang : Entier
- Gain : Réel

Participant 1 équipe
- Numéro-p : CdC membre - Nom-eq : CdC
entraine
Personne I :
- No-INSEE : €dC Entraineur
-Nom : €dC <}——1 - Numéro-licence : CdC
- Prénom : €dC
e —




